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Energy

Practice Problems (Level 2)

1. Each of the following is a temperature reading in one of three systems:
Fahrenheit, Celsius, or Kelvin. Change the reading to its equivalent in
both of the other scales.

a. 215°C f. -325°F
b 6.0°F g. 25.6°C
c. 145K h. 35 K

d. =95°C i. 3565°C
e. 2120°F j- —166°F

2. Calculate the number of calories of heat lost or gained during each of the
following changes:

a. 114.32 g of water at 14.85°C raised to 18°C.

b. 132 gof copperat32.2°C raised t045.0°C; the specific heat of copper is
0.092 g/°C - g.

C. 24.5 g of ice at -10.0°C warmed to 42.5°C. The specific heat of ice is
0.50 cal/°C - g. The heat of fusion for ice is 80 cal/g.

d. 354 g of ice at -40.0°C heated to steam at 112°C. The specific heats of
ice and steam are 0.50 cal/°C - g- The heat of vaporization for water is
540 cal/g.

3. Whatisthefinal temperature of 250.0 g of water whose initial temperature
i$25.0°Cif80.0 g ofaluminum initially at 70.0°C is dropped into the water?
The specific heat of aluminum is 0.215 cal/°C - g.

4. Calculate the specific heat of mercury metal if 250. g of the metal, warmed
from 20.2°C to 37.4°C gives of 145 cal of heat.
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